AMDM U1B&C Quiz Review 

Name__________________KEY___________________ Pd______
Aspect Ratios and Weighted Averages
Show your work, give assumptions when appropriate, and support answers in clear concise language.  Remember that this quiz review is NOT comprehensive; you must study your notes and the tasks you completed in sections B and C of Unit 1.
1. The width and height of a television is 22 in and 16.5 in, respectively.  What is the approximate aspect ratio of the television?
Aspect ratio = W/H = 22in / 16.5in = 1.33
2.  a) Find the width and height of a Sony 51-inch Widescreen television whose screen has an 
aspect ratio of 21:9.
            Ratio


         TV


(21 in)2+(9 in)2 = c2








441 in2+81 in2= c2








522 in2 = c2
9
       c






c = √522 in2 = 22.85 in



H

   51 in
        


21 in / W = 22.85 in / 51 in, solve for W( W = 46.88 in
             21
9 in / H = 22.85 in / 51 in, solve for H ( H = 20.09 in




         W
b) If a TV screen has an aspect ratio of 2.31 to 1, and an image has an aspect ratio of 4 to 3, what percent of the screen is taken up by the image?
                               2.31


Since the height of the TV has to be the same height as the image, 
                                  



convert the ratios so the heights will be the same.  You can do this





 
by multiplying the height and width of the TV by 3 (notice that the




3

height of the image is already 3; the heights need to match).  That





1
will make the height = 1x3 = 3 and the width = 2.31x3 = 6.93.
                                                            
That makes the image 4 by 3 and the TV 6.93 by 3.  Divide 4 / 6.93 






to find the percent of the TV taken up by the image:  4/6.93 = 57.7%


          4
3.  Convert 225 millimeters to inches.  (1 inch = 25.4 millimeters)
225 mm (1 in / 25.4 mm) = 8.86 in
4.  Convert 4532 grams to pounds.  (1 gram = 0.0022 pounds)  the abbreviation for pounds is lbs.
4532 g (0.0022 lbs / 1 g) = 9.97 lbs
5.  Fill in the missing information for each tire size. Show your work in the boxes and circle your answer.  
(1 in = 25.4mm)
	Tire
	P175/65R15 (factory-installed)
	            P195/65R15 (new tires)

	Width (mm)
	175 mm  (converts to 6.89 in)

	195 mm  (converts to 7.68 in)

	Aspect Ratio
	65% = .65
	65% = .65

	Height (in)
	Aspect ratio = H/W
.65 = H/6.89 in  ( H = 4.48 in
	Aspect ratio = H/W

.65 = H/7.68 in  ( H = 4.99 in

	Diameter (in)
	diameter = 2H + rim = 2(4.48 in) + 15 in 
=23.96 in
	diameter = 2H + rim = 2(4.99 in) + 15
=24.98 in

	Circumference (in)
	C = pi (diameter)
C = 3.14 (23.96 in) = 75.23 in (rounded pi )
C = π (23.96 in) = 75.27 in

	C = pi (diameter)
C = 3.14 (24.98 in) = 78.44 in (rounded pi )
C = π (24.98 in) = 78.48



6.  a) After one rotation of the wheel, how many inches further has the car with the larger tires traveled than the car with the factory-installed tires?

Difference in circumferences = 78.44 in – 75.23 in = 3.21 in
b) After 154 rotations of the wheel, how many inches further has the car with the larger tires traveled than the car with the factory-installed tires?
Difference in circumferences times 154 = 154(78.44 in – 75.23 in) = 154(3.21 in) = 494.34 in
c)  After one rotation of the wheel, how many times further has the car with the larger tires traveled than the car with the factory-installed tires?
Ratio of larger tires to smaller tires = 78.44 in / 75.23 in = 1.0426691     *remember the ratio does not have units
7.  If your odometer says you have traveled 50,000 miles, what is the true mileage of your car?

True mileage = 1.0426691 (50,000 mi) = 52,133.455 mi
You would have actually driven 52,133.5 miles.
8.  
	These are the grade weights for Mr. Jones’s math class:

                     Homework
15%


Quizzes
20%


Project           15%


Midterms
30%


Final Exam
20%


	Currently, Joann’s grades are the following:


Homework Average:

75

                     Quiz Average:

           82


Project:


97


Midterm 1:


89


Midterm 2:


68


Midterm 3:


91




a. If Joann scores 85% on the final exam, what will her final grade be?

Find the midterm average first:  midterm ave. = (89+68+91) / 3 = 82.67
Final grade = 0.15(75) + 0.20(82) + 0.15(97) + 0.30(82.67) + 0.20(85) = 84

Your final grade will be 84%.
b. What is the lowest score possible (on the final exam) that will ensure that Joann gets a B (80-89%) in the class?

Since 80 is the lowest possible B, set up an inequality so that your grade is greater than or equal to 80, then solve for the final exam score.
80 ≤ 0.15(75) + 0.20(82) + 0.15(97) + 0.30(82.67) + 0.20(x)

80 ≤ 11.25 + 16.4 + 14.55 + 24.801 + 0.20x

80 ≤ 67.001 + 0.20x

12.999 ≤ 0.20x

x ≥ 64.999  which means you need to get at least 65% on the final to earn at least 80% in the class.

